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L Which & the smaller number in eadh paer?

o) 15,700 10,000
b 174,000 300,000
¢ 50,000 43,535
dh E0.000 5000
&) 365,008 1 million

2_ Wrile < OF > 10 OWBEEE U peirs Of FrimnliErs

o
ab 1,501 1400 -] Gziﬂﬂl:- :]ES.!UU
I"\-\. S

bl 58001 4,500
O

i Whitniey & sorting some numbers.

dj 147500 1145700
e

Sher puts the rambors o o srting disgram.

mamibers hem than 20,000 nisF brs greater thon 120,000

&) ‘Wirae the rasbens on the diagram.
The tirst ore has besn done for o
145 Gk thres hundred dhossond T
B &30 ELAOD S20.030

B Arg this e Givy feafibins i the eirlapoeng sbtcnt Explain whij.

& Here is a latle showing Lhe population in areas of Yorkshire,
Halifax ER.134
Erighouse 32550
Leads 720492
Huddersfield 145,454
‘Wakefiald FEHEE
Bradiord 531,200
Use =, = ar = to make he swatements comect.
The population of Halfax the population of Wakstield

Doubee the papuletian of Bnghouse O the populatcs of Halifas.
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Here gre twe numbers mode on o ploce volue chart
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Dol sous & is bigger thon B becowuss A Lmes More couniens.

Caplain why Dani i wrong.

a) Which digits con reploce the méssing digit?
275118 = IT_ 024
b] The same digit is missing in eoch nurnber.
GO0,00_ < _79466 < 9_1255

What could the missing digit be?

I The rmissing number iz an odd nurmber,

Whiar roundedd to the nearast 10,000 0t
iz 440,000

The sum of the digits is 23

475000 7 07500

Greatest smallest
What coud the number be?

Can yau fing three possibilies?

Here ara four muomber cards.

| azsso | | a3zes |

[ 5659495 ] [ BEEG3 ]

Four childrer take ane each and say a
clue

My rumher ts 57000 when (5o
roundz 1o 1he reaes 100 ke
o
‘Ek{ My numizer has axacty three ]
Pos s Fundreds in il

My nurrber is 42000 when @
rounded 10 1ha rearast thossard Jack

@, Wty number is exacty W0 ess
lhen 53065

Dora

Which casd did each chile have?
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I. Round the numbers to the corect values

ol 432,843 =1} 878,6TE

to the negrest 10 nl:l

1o the reorest 100 i |

tn the neanest 1,000 hl:l
to the nearest 10,000 i |
ey thi resvaresi 100,006 i Ais (b rwegareea 500,000 hl:l

to the nearest 10 is
1o thee nearest 100 s
1 the neorest 1,000 is

o the necrest 10,000 is

2. Reund 450385 o the reares
.10
= 100
« 1000
- 1000G
= 1G0000

3_ . fire Thw=e neamhers clraer to BOLO0ED o 200007
s oz wiiribei Do Lo bl e i eich siis b 0o the eeone 100008

WirH e gz r nneesery in cansarges. The firet one hee Been dane far g

1,500 &30 ET. IR0 ERAFS

L4 4 + ¢

65 rounds 1 oo the repres 10030

&'. ' Dwawy an arroe and kotel 350,000 on the ramber fne.

0o, nen 30, 00

Complete the i

FE0, 00 rewards 1o L thee Fezanest 105,020

5. Zourd these papualions fo the meerest 00O

City P daizn n'::gfﬂ"jﬂ“;;
Leeds S
Durham R7558
EhaFizld SI12827
Birmirgham Qa2

WALT: R | | to | milli
Bohlem solwi

6 - Trzioole srast the prioe af 4 gifarsst Rares
Reeand anch peice 16 1he represt C10.000 and mssnes D100.000

. Ronded fothe | Rounded oo e
Tyew of Fowss Price
L nearst SY0000 | nearet £100,000
Termoed house £15,157
sevi-dekoerad —
U 215,674
denoched Faoine TS AT
Het ¥ 158

When somzarning hoows pricn, o more wielu b roune bo e resnid
T0,000 o £ 190,000 7 Eaplain wimgy

7 Tiles are sobd in boxes of 10
Teddy needs B4 tiles.

[ need B bm:es
because B4 rounded to

QJEE nearest 10 ufEI,/J

Explain why Teddy is wrang.

Do needs 103 liles.
How many boxes of tiles does she need?

8 _  Theciffersrce betwesn ivo S-digit
riurmikars is kan,

Wher sach numbes & rooeged 1o the
rezares] VOO0 the differencs betwessn
thamis 1200

What could tha 1w rumbers be*

q. Fosie rounds o number to the nearest 100,000
Her onswer |5 700,000

al What is the smallest number she could hove started with?

"d:’fh.e greatest integer

that rounds to 700,000
S is 750,000
- T

Amir ]
b} bk Amir cormect? How do you know?

10. 'When the oifferance between & and B s
rourcied to the rearest 100 the arswer is

A0

‘When the o fference betwssn Boand Cis
rourced to the mearest 100 the arswer is
400

A B and O are mat multiphes of 10

What could 2.8 and C be?

e True

950,000 is sxoctly half way betwasn
00,000 and 1,000,000

By convertian, we rourd up,

Explain mhy this siolement ie correct.
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&, Whatis the missing 4 ¢t number? 7. Ginamakes 2 5-digit number.

Lo The chilsren fram Wiest Pogl Jurind Schoal all go on e waals
shand I o @ reusgu, ™ | H T 0 Pike makes a 4-digit number,
Theres e 30 childeen i eschyas groop s ol 4 weer grioiss
g The cast Tor sach crild s 25 folloes: I P

— The difference between their numbsers is

Castof ezt e 8 | 3 g = S465
Coatof roach TEL
TR P & q 4 g What could their numbers be?
Wbl s b sprosirrale oost Tor cach rdie doal chils?
Hesa are the teaal casts for e wnale schozl tng
Tedwl cicr il lichrdz AR
el £i of cxach EHIGHD 8. & mikman has 250 tostles of milk,
Tl cos ofches == 5. Work out the missing rumbers. He colects another 182 from the dairy,
. : =r Lo ¥
Wil i Ehe appeoxienale iola) cesn ol the tris? and delivers 375 during the dey

Hiaw many doss he hawve lefi?
2. Write each calculatian in the carrect calumn,

=J
=)
=0
~J (N
=J

B rriethca:
( mzesma ) (amzazszr ) 23s0e37e0 ) + 2 5 2 _ i
. 375 — 250 = 125

|: 1,995 + 712 :l |: 3,044 + 2372 :| i 17 + 953 ]

? 8 5 2 9 — 125 + 160 = 2B5

Mo exchonge More than one B
necded Do sl exchange _
[l e agres wilh Tormry?
Explain whiy
6. Wark out tha missing digizs.
al ™ H T|O &) T H|T O
Write ane more caloulotion of yowr owm in eoch codumn, | 2 | r 9 | | 21 9. O Manday, Dupres was paid £114
+ = + ERE:
|S[%]|2]%] a2] |= On Tuesday, he was paid E27 more than
3. Dexter is ploying o computer game. on MDFda_'".
Tha tohle shaws the number of paints ke gets In each reurd. ind & ;
o Find two pussibie ansser i i On Wednesday, he was paid £27 lass
Baind I z ] ThHiTIG THIT O than on Monday
2 1 2 1
Murnber af paints 3,550 2175 1,535 ARERE s 2l lel |
Horer much was Dupree paid in total?

al Howe meaniy poiets does Dexter hove ot the end of Rourd 27 _i'_ 1 .3.2 .5_1 .a.i
b} He rieeds 8000 by the end of Round 3 to win the gume. Hover rary ealeulations did you da?

Daes Dextar win the gama? Hiowr did you work thes out? Tolk about it with a partmer.

Show yaur warkings Are there any mere ansvers? I5 there & mase efficient method?



